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0

FIFTH SEMESTER B.COM. DEGREE EX
PRINCIPLES AND PRACTICE

. 1)
Time : 3 Hours] W

Instructions : Answer all questions su ihternal choice.

Question No. 13 is compulsory.
SECTION — A
1. Answer any ten of the following : (10x2=20)
WeEr WIE, YuZo WICWO :
a) Who is an auditor ?
e3§ TOBREET 0T 03N ?

b) Name the subsidiary objectives of an auditing.
e3§ TOBREPI0R FPTT YUTIEBRT), BRORO.

c) What do you mean by error ?
SYisd 2oTTE ?

d) What is joint audit ?
Rood08 &g, TOZRHES 20TTEI0 ?

e) Expand : i) FCA ii) LIFO.
27020 : i) FCA ) LIFO.

f) What are the types of internal control ?
e30308 Q00T DN T[FOND OINI)R) ?

g) Whatis meant by audit working papers ? .
e%& TOBREES TOIF JedF BESOD FONE BN Q0T 9?

h) What are the two types of vouchers ? _ 1
oo THBIOH HTE BFTNED SRR ?
[P.T.O.
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13. Case study (Compulsory question) :
Gt jota) Sintevwy (ém%o:b @Ej’) : k
‘ oks
The following transactions have been wrongly recorded in the bo

of Angadi Co. Ltd.
Bena go. Q. DRETA & sonz ajsaﬁmdﬁe.p’ag{ BTN FERNRCONT.

a) Credit purchase of 10,000 not recorded in any book.
NTOIRN Enoz O, 10,000 2322 cangcie DRTY. IROTSRNG,

=

b) Salary pajd ¥ 5,000 recorded two times in cash book.
T3 ﬁm%ciga SR. 5,000 &, BRHd DRETE. 0R) w300 ADEI A onYe T

) An item of rent paid ¥ 5,000 was posted to general expenses
account,

d) Arun’s A/c which was to be debited for ¥ 4,000 was credited for

was debited for ¥ 4,000.

0T Q503 o, 4,000 &3¢ TOBRTT wEed B, 4,000 =33
SRTRNT. esc3e Bedadnmn IS a3t de. 4,000 =D IREFTT
WTD TR. 4,000 e Gt iontalnd

e) Stationary ¥ 3,000 recorded in wage account. As You are being an
auditor of the company, you are required to identify the above, types
of errors and steps to be taken by you to prevent such errors,
HeRITO I, 3,000 WWIT) 2O IO HDORTAG, ey I8
TOBReIBIo SO, B3 30ee3 s e’a;:’gdn’%*o CIRS THoT 3&‘@@05&)
T80 B esYrisd Ps ROINRHTVZ03 3ﬁd3ﬁra%zjemcs gmmfag
SPR0.

W
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ISATION, NOVEMBER 2018

FIFTH SEMESTER B.COM. DEGREE EX

COST ACCOUNTING — L cs\ 1
Paper —| (Revgé‘ 1
Time : 3 Hours] ~" [Max. Marks : 80

Instructions : 1) Attempt questions according to internal choice in
each Section.
2) Give working notes wherever necessary.
3) Non-programmable calculator is allowed.
4) Question No. 13 (case study) is compulsory.

SECTION — A

1. Answer any ten of the following : (10x2=20)
a) What is material requisition ?
b) Give four examples of incentive plans.
c) What is piece rate system of wage payment ?
d) What is EOQ ? How do you calculate it ?
e) What s i.ndirect labour cost ?
f) Give two uses of time-keeping.

g) Calculate cost of production. If sales are Rs. 1,00,000 and the profit
is 25% on cost.

h) What is a cost centre ?

i) What is prime cost ?

j) What do you mean by inventory control ?

k) What do you mean by functional classification of overhead ?

) What do you mean by overhead ?
5 [P.T.O.
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SECTION - B
5=15
Answer any three of the following : (3x5=15)

: ?
2. What are the advantages of cost accounting to management

3. Roopa and Co., produces a product. From the following data prepare
a statement of cost and show the profit.

Raw material consumed Rs. 1,80,000

Direct wages (labour) Rs. 1,08,000

Machine hours worked 1,800 hours

Machine hour rate Rs. 60

Administration overhead 20% on works cost
Selling cost Rs. 6 per unit

Unit produced 30,000 units

Unit sold 28,000 at Rs. 50 per unit.

4. From the following information relating to Siddarood Ltd. for the year
ending 31-12-2017, compute material turnover ratio for material X and Y.
Also express it in terms of number of days.

Material X Material Y
Rs. Rs.
Stock as on 31-12-2017 30,000 1,25,000
Purchases during 2017 3,80,000 2,50,000
Stock as on 31-12-2016 50,000 1,75,000

5. A dealer buys material X from suppliers at Rs. 50 p.u.
Total annual requirement is 1,800 units.
Calculate the economic order quantity considering the following :
Rent, taxes and insurance, per unitis Rs. 4 P.a.
Cost of placing an order is Rs. 100.
o
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6. The following particulars relating to Mr. Kotresh.
Standard time allowed 50 Hours.
Actual time taken 40 hours.

Wage rate Rs. 200 per day of 8 hours.
Find out Kotresh's earnings under Rowan plan and also find out the

effective wage rate.

7. From the following information provided by BRTS Co. Ltd. for the year

ended 31¢ March 2018.

Factory overhead Rs. 1,24,000
Direct labour cost Rs. 1,96,000
Direct labour hours — 1,45,000 hrs.

Machine hours — 40,000 hrs.

From the above figures, calculate overhead absorption rate using

1) Direct labour hours

2) Machine hours
3) Direct labour cost.

SECTION -G

Answer any three of the following : (3x15=45)

8. What is Cost Accounting ? Explain the differences between Cost.
Accounting and Financial Accounting.

9. Prepare a cost-sheet from the following for the financial year ending

31st March 2018. 8 e
01-04-2017 . 31-03-2018

Particulars

| B8 g P8
Stock of raw materials 40,000 . - - 50,000,
Stock of work-in-progress 15,000 10,000
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10.

Stock of finished goods

Purchase of raw materials
Carriage inwards

Wages

Works manager’s salary

Fact(zry employees salary
Factory rent, taxes and insurance

Power expenses
Production expenses

General expenses
Sales

Income tax
Dividend
Debenture Interest

Selling expenses

ONEET LT TRERTE

6,000

15,000
4,75,000
12,500
1,75,000
30,000
60,000
7,250
9,500
43,000
32,500
8,60,000
5,000
6,000
7,000
9,250

Write stores ledger card using FIFO method of pricing the issues :

2018
July 1

3 Issued 1,000 units
5 Issued 700 units

Opening stock 2,000 units at Rs. 13.50 per unit

8 Purchased 1,500 units at Rs. 13.80 per unit

10 Issued 400 units
14 Issued 310 units

Co
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11.

17 Purchased 1,200 units at Rs. 13.70 per unit
20 Issued 1,400 units
51  Returned to vendors from goods purchased on 17 July 40 units

24  Received back from production department, out of goods
issued on 14" July 30 units

‘ 26 Issued 400 units
27 Purchased 600 units at Bs. 14.50 per unit.
28 Issued 350 units
30 Purchased 1,600 units at Rs. 14.20 per unit
31 Issued 300 units.

On stock verification on 31¢ July a surplus of 15 units were found.

Calculate the earnings of worker from the following under :

a) Straight piece rate system

b) Taylor's differential piece rates

c) Halsey plan

d) Rowan plan.

Working hours in a week — 48 hours

Normal wage per hour — Rs. 30

Standard time per piece — 20 minutes

Actual output for the week — 156 pieces

Differential piece rates to be applied :
80% of piece rate for below standard

120% of piece rate for at and above standard.

q
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12. Nandita & Co. Ltd. has three Production departments A, B and C ang
two service departments X and Y. The following data are extracte
from the records of the company for the year 2017.

Rs.

Rent rates 25,000
General lighting 3,000
Indirect wages 7,500
Power 7,500
Depreciation on machinery 50,000
Sundries 50,000
Additional Information -
Particulars Production Departments Service Departments

A B c X Y
Direct wages (Rs.) 15,000 10,000 15,000 7,500 2,500
H.P. of machines (H.P.) 60 30 50 10 ~
Machine value (Rs.) 3,00,000 4,00,000 5,00,000 25,000 25,000
Area (sq. mtrs) 2,000 2,500 3,000 2,000 500
Light points (points) 10 15 20 10 5
The service departments have rendered the service On % basis as
under : -
Departments Production Departments Service Departments

A B C X Y
Service Department X 20% 30% 40% s 10%

Service Department Y  40% 20% 30% 10%

You are required to find out overhead of production departments.
Repeated distribution method is to be adopted.

N
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13. Case Study (Compulsory question) :

The following information relates to the activities of a production
department for a certain period :

Material used (Rs.) — 72,000

Direct labour (Rs.) — 60,000

Hours of machine operation — 20,000 hours

Labour hours worked — 24,000 hours

Overhead chargeable to the department Rs. 48,000

On the order carried out in the department during the period. The
related data are : .

Materials used Rs. 4,000

Direct wages Rs. 3,300

Labour hours worked — 1650 hours
Machine hours worked — 1,200 hours

Prepare a comparative statement of cost of this order using following
three methods of recovery of overheads :

a) Direct labour hour rate method
b) Direct labour cost rate method

c¢) Machine hour rate method.
Comment : Which method looks to be more rational and why'?

1
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COM. DEGREE EXAMINATION, NOVEMBER 2018
OME TAX LAW AND PRACTICE - | (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Answer all the questions with strict observation
of the inner choice in each Section.
2) Use of simple calculator is allowed.
3) Question No. 13 case study is compulsory.
4) Give working notes wherever it is necessary.

SECTION — A (10x2=20)

1. Answer any ten of the following questions :

a) i) When the income tax was levied in India for the first time ?

1)in 1961 2) in 1886
3)in 1918 4) in 1860
ii) Income tax is
1) a direct tax 2) an indirect tax
3) business tax 4) none of these

b) What is assessment ?

c) Who is “ordinarily resident” individual in India ?
d) What do you mean by perquisites ?

e) Who is a specified employee ?

f) State the provisions of Income Tax Act relating to employer's
contribution to employee’s RPF and interest credited to RPF.

[P.T.O.
|12
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9) How do you treat “unrealised rent” in computing income from house
property ?

h) State the Provisions of Income Tax Act relating to municipal taxes
in Computing income from house property.

i) State any four eXpanses which are disallowed in computing income
from business.

1) How do you treat the following expanses in computing the income
from business ?
i) Provision for doubtful debts.
ii) Bad debts récovered (previously disallowed).

State any two professional receipts of a medical practitioner.
) What do YOou mean by depreciation ?

SECTION -B

Answer any three of the following questions :

for the assessment year 2018-19.

a) Mr. Arun is a citizen of India. He left for France on 15
and could not return to India till the end of the financial

b) Mrs. Leena left for Germany on 10"March, 2016 after
in India for 20 years. She returned to India on 15" Se

May, 2017
year 2017-18.

having lived
ptember 2017.

3. State the following statements are true or false.
a) The income earned from illegal business is also taxable.

b) Income from house Property in Pakistan is taxable in case
“non-resident” individual in India.

c) Income tax paid is an allowable expanses in computing “income
from business”.

\b
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d) Penalty paid to the customs authority forimporting prohibit_ed goods
is disallowable expanses in computing “income from business”.

e) Employer's contribution to employee’s recognised provident fund
is tax free up to 15% of salary.

4. From the following information compute the taxable house rent
allowance for the assessment year 2018-19.

Particulars Dr. Jayanna  Ravishankar
Davangere Delhi
Rs. Rs.
Basic salary per month | 20,000 40,000
Dearness allowance per month
(50% enters into retirement benefit) 10,000 20,000
Bonus per annum 15,000 10,000
Commission (1% on sales achieved) 25,000 -
- House rent allowance per month 5,000 7,500
Actual rent paid per month 8,000 6,000

5. Smt. Renuka gives the following particulars relating to house property
for the previous year 2017-18.

Rs.
Municipal value 82,000
Fair rental value 80,000
Actual rent (Rs. 7,000 p.m.) ' 84,000
Municipal tax paid 8,000
Repairs to the house 10,000

The house remained vacant for one month du'ring' the previous year.
Compute the “income from house property” for the ass'e‘ss'me_nt. year

2018-19.

1Y
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6. Fromthe following information of a Chartered Accountant, compute taxable
income from profession for the assessment year 2018-19.
Receipts Amt. Payments Amt.
RS. RS
To Balance b/d 10,000 By Office rent 12,500

Consultation fee 1,25,000 " Stipend to article clerks 10,000

Gifts from clients

10,000 " Professional books 9,000

" Audit fees 11,000 " Donations 2,000
" Gift from father-in-law 15,000 " Professional tax 1,000
" Purchase of car 87,000

" Balance c/d 49,500

1,71,000 1,71,000

Allow depreciation on books at 40%.

. Sri Srinath is a Gowt. employee. The particulars of his salary income
for the previous year 2017-18 are as follows :

a) Basic salary Rs. 15,000 p.m.

b) D.A. (enters into retirement benefit) Rs. 5,000 p.m.

c) City compensatory allowance Rs. 1,000 p.m.
d) Bonus Rs. 8,000 p.a.

e) Entertainment allowance Rs. 2,000 p.m.

f) He paid Rs. 200 p.m. as professional tax.

Compute his income from salary for the assessment year 2018-19,

r 3

\2
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SECTION - C

Answer any three of the following. Question No. 13 is compulsory.
Each question carries 15 marks. (3%15=45)

8. Following are the particulars of income of Mr. Harsha for the previous year
ending on 31-3-2018.

a)

b)

c)

d)

f)

Q)

h)

)

Profits from business in Raichur, the business being controlled
from America Rs. 1,50,000.

Salary received in India for the services rendered in France
Rs. 80,000.

Profits from business in Sri Lanka, the business being controlled
from Germany Rs. 2,50,000 of which Rs. 1,00,000 received in India.

Income from investments in England Rs. 25,000.

Income from house property in Bangaluru Rs. 75,000. (Rs. 50,000
received in Canada and spent there)

Interest received from a non-resident against the loan given to
him to run a business in Hubli Rs. 25,000.

Salary received in Germany for the services rendered in Indian
embassy of Germany Rs. 1,00,000.

Dividend from JSW Ltd., Rs. 10,000.

Past untaxed income earned in Singapur brought to India during
the previous year Rs. 5,00,000.

Agriculture income from land situated in Bangladesh Rs. 50,000
deposited in a bank there.

16
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. which
k) Profit on sale of building in South Africa Rs. 1,50,000 of
50% received in India.

Compute the gross total income of Mr. Harsha for the assessment
year 2018-19, if he is

) Ordinarily Resident in India.

ii) Not Ordinarily Resident in India.
iii) Non-Resident.
9. Mrs. Triveni Gupta working in Tata Ltd., gives the following information
for the previous year 2017-18.
a) Basic salary Rs. 10,000 p.m.

b) Dearness allowance Rs. 8,000 p.m. (50% enters into retirement
benefit)

c¢) Project allowance Rs. 1,000 p.m.

d) City compensatory allowance Rs. 500 p.m.
e) Bonus Rs. 20,000 p.a.

f) Entertainment allowance Rs. 1,000 p.m.

g) Children education allowance Rs. 200 p.m. per child for two
children.

h) She has been provided with the rent free accommodation in
Bengaluru for which the employer pays the rent of Rs. 8,000 p.m.

The furniture provided in the house is Rs. 75,000,

i) The company has provided a telephone at her residence and the
expenses incurred by the employer is Rs. 10,000 p.a.

j) She is allowed to use big motor car both for official and private

purpose. All the expenses including driver salary are paid by the
employer.

k) Sheis contributing 15% of salary towards the recognised provident
fund with equal contribution from the employer.

l) Interest credited to the above sajg fund at the rate of 129,
amounted to Rs. 12,000.
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m) Insurance premium on her life Rs. 10,000 paid by the employer.

n) Sheis also provided with watchman and a sweeper and the salal_'y
Rs. 500 p.m. to watchman and Rs. 400 p.m. to sweeper are paid
by the employer.

0) She paid Rs. 300 p.m. as professional tax.
Compute her income from salary for the assessment year 2018-19.

10. Shri Dinesh Kulkarni is the owner of three houses. The particulars are

as under

Particulars House A House B House C
Rs. Rs. Rs.
Fair rental value 2,40,000 1,80,000 2,00,000
Municipal value 2,00,000 1,60,000 2,20,000
Use of the house SOP . Let out Let out
Standard rent - 1,40,000 2,40,000
Repairs 10,000 20,000 15,000

Interest on loan :
i) For construction - 50,000 -
i) For daughter’s education 50,000 - =
iii) For repairs 10,000 - 20,000
Rent per month - 15,000 20,000
Unrealised rent - 10,000 25,000
Vacant period - 2 months -

Municipal tax is 10% of the municipal value. Municipal tax of house ‘A’ was
not paid upto 31-3-2018. Municipal tax of house ‘B’ was paid by the owner
where as the municipal tax of house ‘C’ was paid by tenant.

Compute income from house property of Shri Dinesh Kulkarni for the
assessment year 2018-19.

12
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11. Mr. Raghu running a commissio
following profit and loss accoun

-8-

T 0 00 R

n agency business, has prepared the
t for the year ended 31-3-2018.

Profit and Loss Account for the year ended 31-3-2018
Particulars

To Salary

Rent

House hold expenses

Legal expenses

Income tax

Discount allowed

Bad debts

Advertisement

Donations to PM’s
relief fund

Office expenses

Interest on capital

Reserve for bad debts

Life insurance premium

Postage and telegrams

Depreciation

Audit fees

Amt. Particulars Amt.

Rs.
1,00,000

20,000

30,000
10,000
15,000
5,000
10,000
8,000

12,000
15,000
12,000
8,000
5,000
1,000
20,000
10,000

Rs.

By Gross Profit 3,00,000

Bad debts recovered 15,000
Dividend on shares 10,000
Rent of building 50,000
Interest on debentures 15,000

Long term Capital gain 50,000

14
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" Goods and service tax 5,000

Fire insurance premium 4,000

Net profit 1,50,000
4,40,000 4,40,000
Additional information :

1) Salary includes Rs. 15,000 paid to the workers employed at home.
2) Allowable depreciation is Rs. 18,000.

3) Office expanses include Rs. 5,000 as contribution to staff welfare
fund.

4) Out of bad debts recovered only Rs. 8,000 were allowed as
deduction earlier.

5) Legal expenses include Rs. 3,000 paid to the lawyer in connection
with personal case.

12. From the following particulars of assets of XYZ Ltd. Calculate the

depreciation allowable for the A.Y. 2018-19 and show the W.D.V. as
on 31-3-2018.

Particulars of assets W.D.V.on 1-4-2017  Rate of Depreciation

Building X and Y Rs. 4,00,000 10%
Machinery P and Q Rs. 2,00,000 15%
Furniture A and B Rs. 1,00,000 10%

The company purchased the following assets during the year 2017-18.
Building ‘Z’ on 1-9-2017 for Rs. 1,50,000.
Machinery ‘R’ on 1-11-2017 for Rs. 1,00,000.
Furniture ‘C’ on 1-2-2018 for Rs. 50,000.
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The COmpany also solq the following assets during the year 2017-18_
Building x sold for Rs. 2,00,000

Machinery Q sold for Rg. 50,000

Furniture A sold for Rs. 20,000
The COmpany receiveq th
Machinery ‘R’ Rs. 50,000,
Compulsory : Case Study :

Mr. Ramlalan employeeg workingin Bengaluru, Thefollowing particulars
are available regarding his g

alary income for the year ending on
31-3-2018,

a) Basic salary Rs, 20,000 p.m.
b)

c)

Dearness allowance Rs. 10,000 p.m.

City COmpensatory allowance Rs. 2,0
d) Bonus Rs. 5,000 p.a.

(enters into retirement benefit)
00 p.m.

&) He retired from service on 31-12-

f) His pension was fixed

pension.

9) He also receives gratuity of Rs.

8,00,000 Which ig Covered under
payment of Gratuity Act, 1972,

2018-19, if he is
i) A government employee.
i) A employee working in a private sector,

=
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Time : 3 Hours]

Instructions :

SECTION - A
1. Answer any ten of the following :
a) What is Accounting Practice ?
b) State any two objectives of Accounting.
c) What is Measurement theory ?
d) What do you mean by accounting environment ?
e) What is Authoritarian Approach ?
f) What are the steps in inductive approach ?
g) What do you mean by Accounting Postulate ?
h) What is dual aspect principle ?
i) What is current assets ?
j) What is capital expenditure ?

k) What do you mean by Accounting Standards ?

) Expand the following :
i) GAAP

i) IFRS. (10x2=20)

a& [P.T.O.
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SECTION - B

Answer any three of the following :

2.

3.

Explain briefly importance of Accounting Theory.

Explain ethical approach in brief.

- Mr. Ashokinvested Rs. 20,00,000in a business by which he purchased

Plant and machinery Rs. 10,00,000, Furniture Rs. 50,000, Deposited
in to Bank Rs. 3,50,000 and bought Stock Rs. 6,00,000. He also
Purchased goods on credit from Mr. Vijaya worth Rs. 2,00,000.

Prepare Balance Sheet by applying dual aspect concept.

Explain the types of expenditure.

. State the needs of accounting standard.

Calculate the value of stock at the end of financial year 31-3-2017
from the following given data :

Materials Cost NRV
Rs. Rs.
A 20,000 30,000
B 48,000 40,000
C 84,000 1,00,000
D 60,000 72,000
E 96,000 76,000 (3x5=15)

o\
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SECTION-C

Question 13 is compulsory and answer any two from the remaining.
8. Define Accounting Theory. Explain its needs.

9. Explain principles of cost, matching and full disclosure.

10. Explain different methods of measurement of assets.

11. Explain various advantages of accounting standards.

12. A) Calculate the profit by matching principle from the following
information :

a) Financial year : 01-4-2017 to 31-3-2018.

b) Capital introduced in business : Rs. 3,20,000.

c) Purchase of goods for the year 2017-18 : 8000 units at Rs. 50 each.
d) Sale of goods for the year 2017-18 : 6000 units at Rs. 90 each.

e) Salary paid to Staff : 5000 pm for 11 months

f) Miscellaneous income received : Rs. 2,000.

g) Rent for the building paid : Rs. 6,000 pm for 11 months.

h) Paid to sundry suppliers for purchase : Rs. 2,40,000.

i) Received cash on account of sales : Rs. 3,60,000.

B) Find out the owners shares from the given balance sheet under

proprietary theory.
Balance Sheet
Liabilities Amt. (Rs.) Assets Amt. (Rs.)
Capital 16,00,000 Fixed Assets :
Reserves 8,00,000 Plant and Machinery 14,00,000

ol
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PandL Alc 6,00,000 Land and Buildings 10,00,000
Creditors 10,00,000 Current Assets :

Bills Payable 4,00,000 Stock 7,00,000

Debtors 6,00,000

Bills receivable 5,00,000

Cash in hand 2,00,000

44,00,000 44,00,000

Case study (compulsory) :

13. Surekha manufacturing company gives the following information.
Prepare the Stores Ledger according to FIFO method.
01-08-2018 Purchased 8000 units at Rs. 15 each
03-08-2018 Issued 2000 units
06-08-2018 Issued 4000 units
10-08-2018 Purchased 8000 units at Rs. 16 each
12-08-2018 Issued 6000 units
18-08-2018 Purchased 8000 units at Rs. 18 each
22-08-2018 Issued 4000 units
26-08-2018 Issued 6000 units
30-08-2018 Purchased 10000 units at Rs. 20 each
31-08-2018 Issued 6000 units
You are required to answer the following :

a) What is the value of closing inventory according to periodic
inventory system ?

b) What will be the effect on closing inventory under FIFO ?
c) When company wants to satisfy the share holders ? Will it be
advisable to continue FIFO ? Why ? (3x15=45)
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Compulsory (Revise)

FIETH SEMER

il
s JM?‘/%" arks : 80

All sub-questions should be an

place continuously.
N Quote facts and figures to support your answer.

Q) Answer to all Sections should be written in the
same answer book.

Time @ 3 Hous)

Instructions : 1)

SECTION - A

ving questions in 2~ 3 sentences each.
(10x2=20)

Srien, Jeadeomag 2-3 NTY, SOZORD.

. L)
SR “..‘""\'\""\?fl‘:\‘ "Ci‘u JADNRTY,

{ Answer any ten of the follov

a) What is under devaloped onomy ?
M’{ "\-i. \—\ e &3 \.’ \\. “.\:3 ﬂ) i?

e \\!. \_ \
b) State the meaning of economic inequality.

o w — o — T
Y STROIROIT &FF 0.

) Give the meaning of secondary sector.

ey Do Ay TR AT s
WS SO RVVAX :“ ~ ::\
N
3

d) Calculate NNP from the following data :

GNP = Rs. 80, 000 Cr., Depreciation charge = Rs. 10,000 Cr.
FNR @0F o 0w I F200 Q0 NNPoR), o—%md INaA.
ol *‘?"-f_f{\\: 3. 80,000 Cr., 9 3, = dr. 10,000 Cr.

2o

[P.T.O.
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Expand NITI.
NITI ©35036.

What is density of population ?
BWIX0T,8 Q0BT 9

Find out PCI.
NI = Rs. 1,00,000, Total population = 1000

3D eﬁmmda@t FOREGBOND.,

owieod) 800 = Tr. 1,00,000, u&%wﬁﬁo&% = 1000
What do you mean by rural migration ?

119,069 BOX 0BT 9

Who is the chairman of NIT] Ayog ?
NS es0dend BE,FT0 0XRW ?

Write the period of 12! Five Year Plan.
B BRS¢ Tormors odpesodd EBHONT, 2BWD.

Mention any two institutional sources of finance to agriculture.
B X BEFTIAT CIRYTOETR TR F20&r8 DRONYI) S920.

Expand AGMARK.
AGMARK 23020.

SECTION - B

Answer any three of the following questions. (3x5=15)
SINS tIe5or oD [INert YuZoRD.

2. Is India a developing economy ? Discuss.
Aple Tk Mola® @apq)%éeo SOFT qwfgabe 9 2R3IFAO.

3. Explain the difficulties involved in the estimation of national income.
To&e0d SITRODBY, BOIED BRETEY, AT LR0TTNa) HIFORO.

3_”(
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4. 3
Describe the \ anous reasons tor liberalisation in India.

4.....‘ R
u\ RS 2 b T T, Qund N - —
W, THRIATETNN QN RTUHNMIVRD 380,

b

le

Is India over populated T Give reasons.

R e - z .
L~ d-..\ '\\ e e T o ; = b T
u\.-_\_ e T S s o B A WY oy 21 " Beng
"‘t RSO AV AN A WA N .\\\‘_\:‘\ ; -}:\::n‘;\\ o% A,
e -

(87

. EXplain the problems ot agricultural marketing.

R S e b T e T N o B 39,
"**\\‘*-~h\-t\~\\\.\.\.\.\ NN :"\.'Q \-._Du AN
L G e - ,

~J

. What are the major objectives of five \*em plans in India ?

P = ary—m S oW A e R T T e ) -,
N 1 ‘. s\
e \\\.\\\a-;\&“ Nowaad \\s.'\. | SRR T »s\»«.\ '-

SECTION -C

Answer any three of the following questions. Question No. 13 is
compulsory. (3x15=45)

3 5 - -

=~ a3 —— oy,

t—“‘\wnn\y-.\ﬁ- Sabne &t w\.\-n""l_‘
-

[

.

. y & 3 -
AP VY we T e B 13:.J -~ o
t.\-:.\. WAL S W, Tl @ ot | 10
- -t - * & -

8. What is economic reforms ? Explain its effects on Indian economy

et T — B e T T R e et T T e e = S S + A~y —~oce~ ﬂﬂ""d
Feaiaa] el e TR R OOt Y el e TR E' j,:“\'w\a ‘v'\\.- W

~ -

o Define national income. Explain its different concepts and uses.
ToALCH HTRALTR /SR, (0. |/IT DY TOTIIINFN. I
ToaleaneR amete. ) )

R )

10. Write a note on :
a) Occupational structure in India.
b) Density of population in India.

- + - -
oo e, sl —-;-..:-q- L e R Bt B WY

“Sda AT Sy ..,.._..,.'.: I e Y
-
T Mt e e
a .J-.-..\.‘--u..-- -.-u..\..‘-\.\. LU

b -.-—\-r"'-'--.: \_-—"v—-\-\n‘-r‘-‘
“\\-\—\.\.\— B

11. Examine the objectives and achievements of 111" hve year plan in Indla

A e Y e o A T AITTN TR AT A = A —qcv—i Ay T --i
......\.\.\.“.n. B L »u.-.vu...! T A \».J“J

—_—ed d

e
h QE
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12. Describe the causes for low agriculture productivity in India.
WUIEY 8 & vz e a@&mm@csﬁc TRUENTY, WeSF 2.
13. Case Let,

15% of world’s POpulation.
Questions -

NdaDIe Il OB BONAT. BIROTY, DeS0I K083 wvwwﬁwgagt
aws-oc:m.gq DINMDN 70Ty WIRooD ;'dmﬁs Q:’ox% NTOZTon @cdaarogd.
Aplercin) BNET 3n 0,363 Jegm 2.5 o> DS aegsci zss:doajéoda Jesm

ed

1) asa::oajﬁodw BOFT F=e3nn BBosToNtade 9
2) e BIX03,0¢) 103 AT ORI 9
3) WIR0, ed &R0, zj%fa‘séﬁwa@ aomo@maq ABTIO S00Be 9
4) wrez wF0a3, 03> Sezrm RIS SRRl 1 5] BT 9
e SeS

A
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F';le-?EMESTrn B.COM. DEGREE EXAMINATION, NOVEMBER 2018
- FINANCIAL SERVICES (Revised)

[Max. Marks : 80

1) All Sections are compulsory.

2) Answer the queslions according o internal choice.
?) Use of simple calculator is allowed.
4) Question 13 (case study) is compulsory

SECTION - A
1. Answer any ten of the following : (10x2=20)
BN tIesats e TP AV CUFLAD
a) Define Financial Services.
TEATOAS XeSIdneb Qwo D) .SU HRWD.
b) What are fund based wllvmos %
QO BHLI WLLSLIBNRTFOTTTD ?
c) What is meant by loan syndication ?
ToOT BRHL TS 0owm0esd ?
d) What is meant by Mutual Fund ?
'WORT Y’ QOWTE 7
e) ExpnndNSDL and C.D.S.L.
god : N.S.D.L. &% C.D.S.L.
f) Déflno operating lease.
FICIRF Y 7er300d w32 53, eV,
g) What is meant by Doposulory Services ?
BRI BeaSneh wowdemd ?
h) What is online trading ?
©00* WY & WU QORTER 7
i) Who is factor ?
9,8 0° Q0T 0dR3D ?
j) Whal is rematerialisation ?
OB SBTEIROTIT R ?
k) What is close ended scheme ?
TREER F0WBRWE cdRewd 20T8e ?
l) What is CICdIt ratmg ? 30

WIS TedF QEFORINT 0T ? [P.T.O.
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SECTION - B
Answer any three of the following : (Axa=16)
59NS ARY szt SR a_)éqri@ﬁ VSO0 :
2. Explain any two

el ces between financial lease and operating lease.
ST riees oz BORFFE ieedriv @O CIRI T 207D S TANTRY

4. Write g note on C.D.S.L.
RGBT ek FOZR 83303 w0,

8]

9. Discuss different types of lease.
nessad Qo B,T0NIRY 133rn.

o
. Distinguish between factoring and forfeiting.

9,3 Do BB PpeosHessone BRING IR =3, 3ne
7. Write the functions of depository participant.
RRPeEID WONCTT0S mm’a'rr{@@t L3000,

dgt AleloVoloN

SECTION - C

Answer any three of the following. Question No. 13 is Compuisory
(case study).

(3x15=45)
TONS 3e50T = @3 nen QU DD, T3, ;"\JJOQjﬁ 13 sa'%%womﬁdogd
(X,83¢2 E5,008).

8. Explain the characteristics of financial services.
TEOTRT ReSny VT EANTY B[ORD.

9. ‘What is meant by dematerialisation ? Describe its merits and demerits.
P33 DOTBeRD 2 e PBesTeas BERE ) @mmﬁm@éﬁ@@{ QTOD,

10. What is lease ? Explain the advantages of leasing to the lessee.
rieed D0TTesd 2 RessmaoR fessods eﬁmﬁ:a@a"mﬁa“% DTOD.

11. Discuss the advantages and disadvantages of credit rating.
DT F,ee3e30003 9R0BROS Tonn OIIIBROINTRY, 3e3rR0.

.b\
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12. M/s. Neha Co. Ltd. is interested in purchasing an asset costing
Rs. 10,00,000. It has two choices.
i) Toborrow the amountat 20% p.a. interest repayable

or
i) To take asset on lease for a period of 5 years. The rent at the

end of each year is Rs. 2,40,000. The company is the tax bracket of
50% p.a and follows a depreciation on reducing balance method at
20%. The asset will have salvage value of Rs. 3.50,000, at the end of

five years.
The company is asking your a
asset on lease ?

in 5 equal installments.

dvise whether buy the asset or take an

Note :

1) The present value of Re. 1 at 10% discount factor is as follows :
1styear 0.909 ond year 0.826
3 year 0.751 4th year 0.683
5hyear 0.621

2) The present value and annuity of Re. 1 at 20% is Rs. 2.9906

for 5t year and @ 10% is Rs. 3. 791,
=3, S0 70, O. AR Te. 10,00,000 SRO,T SR 0ITY DDA
SeiRaISPYT. BT SBR oIS,

i) Ss3eassy Se. 20 BT T RROT 5 OB BODNV LoDNWITD.
CTRIND)

i) S0 riessom 29008 5 SRFNIROR SE030m)E0. 2oeoN &8 BRFE,
RSO AR dn. 2,40,000 TEROITT. B0T030 Je. 50 T 3ort
LITET. 3 FomoDY Be. 20TRD, RSB0, BACD QET0D S
;':fcja.%od:oé SRBOTT. SOD EB030T ) VNS S03T W0 VYT
SVESEVES 3RS S033 Be. 3,50,000 B30I
& Fodn, H3oDY, FOTIIN 33, 030%), DoeWede Lo essmoN
DR0oDIeBe? 02OTT WY TOT VeBO.

RN :
1) Se¢. 10 O 3R8T WS Twe. 1 B RIT,T AN =P, B FPNT0ST :

13e SR 0.909 23¢ I=RF 0.826

35e IRF 0.751 43¢ I&F 0.683
Se IRE 0.621
Se. 203 3833 B8Z02 BR. 1 THAFT 5550308 B8 5 IRFNY SoST
3. 2.9906 33 Fe. 10 803 . 3.791 QT3S 3
i 2

(0]

2)
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13. A) ABC Electrical Co. Ltd. is manufacturing electronics goods and
Supplies the product to various wholesalers and retailers. But the
cOmpany found maximum dues from the purchasers. Hence, the

Company is thinking about whether to create a credit collection
department or to go for making agreement with factors.
You are requested to advice the ABC company whether to go for
factoring or not. If yes explain the advantages of factoring.

B) Mr. BES is having Rs. 10,00,000. He is thinking about investing

the money in mutual fund scheme. As a financial expert advice
Mr. BES,

_ how the mutual fund scheme is better than investing in
banking companies and write the benefit of mutual funds.

Mr. Pavan has purchased many company shares before introducing
Demat Accounting System. But now Mr. Pavan wants to open the

Demat Account to make the daily transactions. As a depository
participant advice the investor r

egarding process of opening of
demat account.

A) ABC aeﬂ%ﬁe‘ FOW DOIBF) ad@@sﬁﬁ&ﬁ:&gﬁ@ﬁg{ UUTORET), wdes
m:sau 9 md:a; O RO 3c0BOY mﬁmd:u;aﬁ TV SETT 03 WToL3
SRBORNHZR. S8 333N ABC B80T 20236603 308 Beads 3, TIER)
s StAp) uhcbgcﬁ. 88300 ABC 3052030 mow SRR QPINT), TrsnLIed e
S5 R;FTCRONT L.I0T SREERGLeERE 20 WNITTOTIT. STOOT
Q) ) BTN T, FOON TSN R eBORWeBRe FTo ﬁeéﬁpe
ROWITRY, SPR. mﬁﬁwbon‘ adcé)é Eanintelslale] fﬁﬁ)ﬁ@@@’ﬁ@&ﬁ%{ WTOXD.

B) 8¢ 0. Q. %°. 908 T Bw. 10,00,000 @8O3, 0= 3R BT
TRTUTOT HADQ, BATWLD NFOBISTT. STOOT esy) W) HVZEO
BpaE ZOBHOTN, THOFOT FOOHE, Beomy, BT 13, 0BRTE,
TRWIJYTIE0S Hert 323), ToLItoods DOWOT, YAV Torie TTI 0T Y
C3RERTODYTOT LTBRVINTR), IWORD.

C) 3¢ TT* A@WTY, 58 FoTIADH BeTdided) wePSeEses S8 TRS0H
TOBOWRORYTE0Z IRTSe DOCOATLTVT. BT & e TI* QR 3=
Beoh B, TEORRY, BR3e8ces (Demat) =500 IRBe AT:S.

3 : 5%
Slofells FoR) W) TOM,BT LNTesoaN (Depository participant) &,¢

TR ATON 5P3e3Te 3B 0IRY FF0INT DTN, DT[ORD.

)

C)
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FIFTH SEMESTER B.COM. DEGREE EXAMIN/(%T( QN""‘ )
NOVEMBER 2018 %

COMPUTER APPLICATIONS IN BUSINESS (R
RDBMS and E-Business Applications

ime : 3 Hours] [Max. Marks : 80
Instructions : 1) Answer all questions of all Sections, subject to
internal choice.
2) Question No. 12 is compulsory.

SECTION - A

—A

_ Answer any ten questions from the following. Each carries 2 marks.
(10x2=20)

a) What is Integration ?

b) What do you mean by Hyperlink ?

c) What is Network Model ?

d) Define Attributes.

e) What is Primary key ?

f) Expand DDL and DCL.

Q) What is the use of Alter Command ?
h) What do you mean by Direct Selling ?
i) What is Social Marketing ?

H

i) Mention the meaning of Smart Card.
K) Write any two uses of Mobile Banking.
n 1 |r"'l. 1‘* C\’hﬂ ::n ?
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SECTION -B

; : (3x5=15)
Answer any three of the following questions.
2. Explain the uses of integration.
3. Describe the advantages of DBMS.
4. Explain the types of relationships.
5. Explain the DDL Commands.
6. Discuss the Benefits of E-Business.
7. Explain the Mobile Banking Services.

SECTION-C
Answer any three questions including Question No. 12, which is compulsory.

. (3%x15=45)

8. Explain the methods of integrating MS-Word documents and MS-Powerpoint

files in MS-Excel.

9. Explain different data Models.
10. What is Direct Marketing ? Explain the different tools of Direct Marketing.
11. How do you will strengthen the customer relationship ? Explain in detail.
12. Create a table “Employee” in sQL with fields Emp_id, Emp_name,
Basic, HRA, DA, IT, PF, Gross_pay, Tot_deductions, Net_pay. And

perform the queries :
a) Add five records in employee.
b) Calculate HRA = 18%, DA = 20%, IT = 10%, PF = 5%,
Total deductions, Gross_pay, Net_pay.
c) Display all records of “employee”.
d) Display Emp_name, Gross_pay whose Net_pay > 25,000.
e) Delete record no. 4,
13. Write a short note on any three of the following : (3x5=15)
a) Any five object types in MS-Powerpoint.
b) Merits and demerits of RDBMS.
c) Logical functions in SQL.
d) Benefits of e-commerce.
)

e) Advantages of Debit card.
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